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* MI1ZE C 2007 M - MIE OIAESSN 2 HAEZ SAl AMese & A= HINH2 OGS 2L, (Etel - H3)
3 Al == Ne - MZE oll&t SN 2 A XY st E
3 Al 976,480,004 29,294,400
= gt 3 A 680,440,838 20,413,225
S e 3l A 296,039, 166 8,881,175
A Al 160,583,988 4,817,520
= #H AN g 5 € 3 A 35,585 1,068
e Esdl=s=4d8 5 83 A 3,206,541 96,196
Mg I =248 S E 1,115,000 33,450
JIEISERA & J 0 & # £ E 3 1,000,000 30,000
E M W & 5 & 3 A 6,907,000 207,210
S AN J 8 A2 S 8 3 A 2,400,000 72,000
w s Mg 5 & 3 I 30,775,501 923,265
E AN 2 =T 5 g2 3 Y 115,144,361 3,454,331
S A 135,455,178 4,063,655
s Jlog & ==& A g E 8 3 A 65,007,799 1,950,234
o = & M &8 S 8 3 A 70,447,379 2,113,421
* M2Z @ Mg - ME0ae SAle €8 MY - Msola o 20 G2 2 SIESE3 = EXM2Z &t
* M3Z @ 20078 = MHERREAA=E €8 "WRIEESHATA o 20
* M4z 2 20079 NI st=H=2 42,300,000 2= StCt.
* M5 1 20078 BAIOIEAIEE2 883 "HAIOIFAEEA o 2L
* M6x 20079 HSHIAMEE 88 "HASHIZA oF 20
* M7 - ZEHSIH olBl8l= 9,799,728 A 2= LY.
* M8 - 2810 £S5 = olaEl= 42200 01801 22et B2 NSMEE M47x2 R0 2 0lss2s 22




